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MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

ALGEBRAIC EXPRESSIONS

1. Identify the monomials, binomials, trinomials and quadrinomials among
the following algebraic expressions:

(i) =7(i)z+y

° Watch Video Solution

2. Identify the monomials, binomials, trinomials and quadrinomials

among the following algebraic expressions:


https://doubtnut.app.link/lkek2J5wfhb
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(i) 4. 5a

(i) a® — b°

° Watch Video Solution

3. Identify the monomials, binomials, trinomials and quadrinomials
among the following algebraic expressions: (i) a? + 2ab+ b* (i)

ar +by+c

° Watch Video Solution

4. Identify the monomials, binomials, trinomials and quadrinomials
among the following algebraic expressions:

(Dax + by + cz + d (i) 3xyz (i) x + y + z — zyz

° Watch Video Solution



https://dl.doubtnut.com/l/_3AtEs0EbmzgM
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5. In the algebraic expression a® — 3b% + 7b* — 9a® + 6ab + 5, we have,
a’and — 9a? as like terms. Also, —3b? and Tb? are like terms. But az, b

and 6ab are unlike terms.

° Watch Video Solution

6. In the binomial expression 5z + 7, the constant term is 7. In the

3
trinomial expression a® + b? — E the constant term is o

° Watch Video Solution

7. In the monomial 3zy, the coefficient of y is 3x, the coefficient of x is
3y and the coefficient of zy is 3. Consider the term —8zy in the binomial
—8xy + 7. The coefficient of z in the term —8xy is — 8y, the coefficient

of y is — 8z and the coefficient of zy is —8.

° Watch Video Solution



https://dl.doubtnut.com/l/_02tZsZhX38qz
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8. Write down the terms of the expression:

4
8ty — Txdyz + §w2yz2 — bxyz.

, 4
What is the coefficient of 22 in the term §x2yz2 ?

° Watch Video Solution

9. Write down the coefficients of a, ab and abc in the term 4a*b?c of the

3
algebraic expression 4a*b*c — 3a®b?c + Eab3c2-

° Watch Video Solution

10. In the algebraic expression 5%y + Txy? — 3zy — 4yz?, we have 522y

and —4yz? as like terms, whereas 7zy? and — 3zy are unlike terms.

° Watch Video Solution

1.1n the following write down the pairs which contain like terms:

(i) 3z, — 7z (ii) 16z, 16y


https://dl.doubtnut.com/l/_GaZ7GTVTDCeO
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° Watch Video Solution

12. In the following write down the pairs which contain like terms:

(i) 2%y, — T2y (i) 9ab, — 6b

° Watch Video Solution

13. In the following write down the pairs which contain like terms:

(i) a®, 4b (ii) a®b, 3a’be

° Watch Video Solution

14. Identify the like terms and also mention the coefficients of those

terms in the following terms: 4zy, — 5:c2y, — Jyzx, 2xy2

° Watch Video Solution



https://dl.doubtnut.com/l/_hZ5kjsuJiZME
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15.If £ = 1 and y = 2, find the values of each of the following algebraic
expressions:

(i) 2 + 3 (ii) 3z — by

° Watch Video Solution

16.If £ = 1 and y = 2, find the values of each of the following algebraic
expressions:

(i) 3z + 2y — 7 (ii) x>

° Watch Video Solution

17.1f x = 1 and y = 2, find the values of each of the following algebraic
expressions:

(i) 22y (ii) 2 + y? (i) y? + 3 — 22

° Watch Video Solution
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18.Ifzr =1, y= — 2and z = 3, find the values of each of the following
algebraic expressions:

() 22 + y® + 2° — 3zyz (i) 3zy? — 1522y + 4z

° Watch Video Solution

19. Find the values of each of the following expressions for
a=1,b=2andc= —1.

(i) a® + b® + 2ab (i) 2a® — b%c + 3abe

° Watch Video Solution

20. Find the values of each of the following expressions for
a=1,b=2andc= —1.

(ia®+ b+ — 3abe(ii)a®? + b2+ % — ab — be — ca

° Watch Video Solution



https://dl.doubtnut.com/l/_sZevsekPFscG
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21. Identify the monomials, binomials, trinomials and quadrinomials from
the following expressions:

(i) 4z2 (i) 2% — 1

° Watch Video Solution

22. |dentify the monomials, binomials, trinomials and quadrinomials from
the following expressions:

(i) 2% — o2 (ii) 322 + 4y® + 52

° Watch Video Solution

23. |dentify the monomials, binomials, trinomials and quadrinomials from

the following expressions: (i) az® + bx + c (i) a® + b + & — d?

° Watch Video Solution



https://dl.doubtnut.com/l/_iOikqb6WFuop
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24.|dentify the monomials, binomials, trinomials and quadrinomials from

the following expressions: (i) 3ab? (ii)a® + b* — 3ab+ 5

° Watch Video Solution

25. |dentify the monomials, binomials, trinomials and quadrinomials from

the following expressions:

(i) zyz
(i) 3z — 2
(iii) 4z — 3z

° Watch Video Solution

26. Write all the terms of each of the following algebraic expressions:
)3z + 5y — TPy + 7

(i9y® — 22° + Txdy — 3zyz

° Watch Video Solution



https://dl.doubtnut.com/l/_LQttp6ehF6Gf
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27. Write all the terms of each of the following algebraic expressions:
(i)a® — 3ab — b* + 6

(iz: —z +1

° Watch Video Solution

28. Write down the coefficient of x in each of the following:

(i)3z (ii) —4ax

° Watch Video Solution

29. Write down the coefficient of x in each of the following: (i)5acy2 (i)

TYz

° Watch Video Solution



https://dl.doubtnut.com/l/_CiF0x8Sc93FD
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30. Write down the coefficient of z in each of the following:

N SRR
(|)—2:1:—|— (||)—2xyz

° Watch Video Solution

31. Write the numerical coefficient of each term of the following algebraic
expressions:

(i) 22 — 72y + 5zy® — 2 (ii) —2a® + Tab® — 6ab + 8

° Watch Video Solution

32. Identify the like terms in each of the following:
()z?, y*, 227, 2*

(i) 22y, vz, 3z, %

° Watch Video Solution



https://dl.doubtnut.com/l/_hoRkFHuyStQX
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33. Identify the like terms in each of the following:

(i) — 222y, x2, — yx?, 2%y

(ii)cab?, a’be, b2ac, ctab, ab’c, abe, ach’

° Watch Video Solution

34. Identify the like terms in each of the following algebraic expressions:
(D —2y+ 3z — 4z + 3zy

3
(ii)3a + 2b — c + 5a—4+3b

(ii)zy? + 32’y — 42y — 5+ y’z — 22%x + 3x2?

° Watch Video Solution

35. Evaluate each of the following algebraic expressions for
x=2,y= —3, 2= —2,a=2,b=3:

(ax + by + =

° Watch Video Solution



https://dl.doubtnut.com/l/_uuXm6tRAREY9
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36. Identify the monomials, binomials, trinomials and quadrinomials from
the following expressions:

(i) a2 (i) a® — b?

° Watch Video Solution

37. Identify the monomials, binomials, trinomials and quadrinomials from
the following expressions:
(i)ac3 4 y3 13

(i) 2 + o* + 2% + 3zyz

° Watch Video Solution

38. Identify the monomials, binomials, trinomials and quadrinomials from

the following expressions: (i)7 + 5 (ii) abc + 1

° Watch Video Solution



https://dl.doubtnut.com/l/_rr6e4imy7d4O
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39. Identify the monomials, binomials, trinomials and quadrinomials from
the following expressions:

()3z —2+5(ii)2x — 3y + 4

° Watch Video Solution

40. Identify the monomials, binomials, trinomials and quadrinomials from
the following expressions:

(Vzy + yz + zz (i) ax® + ba’ + cx + d

° Watch Video Solution

41. Write all the terms of each of the following algebraic expressions:

(i) 3z (ii) 2z — 3

° Watch Video Solution



https://dl.doubtnut.com/l/_udNlkYkNlC43
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42. Write all the terms of each of the following algebraic expressions:

(i)2z% — 7 (i) 22 + y® — 3zy + 4

° Watch Video Solution

43. Identify the like terms and also mention the numerical coefficients of
those terms:
(i) 4zy, — bz’y, — 3yz, 2zy°

5 3 4
(i)7a’be, — 3ca®b, — iabc2, Eabc2, — gcba2

° Watch Video Solution

44, |dentify the like terms in the following algebraic expressions:
(Va® + b — 2a%> + & + 4a

(i)3x + 4y — 2yz + %zy

(iii)abe + ab’c + 2ach® + 3c2ab + b®ac — 2abe + 3cab?

° Watch Video Solution



https://dl.doubtnut.com/l/_unpqGS85sEcJ
https://dl.doubtnut.com/l/_mpJC76MgEP5b
https://dl.doubtnut.com/l/_PySr2lQpyiUY

45. Write the coefficient of z in the following:

(i)— 12z (ii) — 7Tzy

o Watch Video Solution

46. Write the coefficient of z in the following:

(Dzyz (i) — Tax

o Watch Video Solution

47. Write the coefficient of z2 in the following:

(i)— 322 (ii) ba2yz

o Watch Video Solution

48. Write the coefficient of z? in the following:

WD 3,
(|)7a: z(||)—§am + yx



https://dl.doubtnut.com/l/_3uGfQxYEz60M
https://dl.doubtnut.com/l/_aCjawwaJJy5J
https://dl.doubtnut.com/l/_Wh2Gt1QItW6u
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| &J Watch Video Solution

49, Write the coefficient of:
(yin —3y

(ii) @ in 2ab

o Watch Video Solution

50. Write the coefficient of:
(i)zin —Txyz

(ii) pin — 3pgr

o Watch Video Solution

51. Write the coefficient of:

(i) y? in 9zy?z (i) % in 2* + 1 (iii)2? in — 22

o Watch Video Solution



https://dl.doubtnut.com/l/_tPF0w8o0tFfI
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52. Write the numerical coefficient of each of the following:
(i) zy

(ii) —6yz

° Watch Video Solution

53. Write the numerical coefficient of each of the following:
(i) Tabe

(i) — 22%9%2

° Watch Video Solution

54. Write the numerical coefficient of each terms in the following

algebraic expressions:

3 5
(i) 4m2y — Emy + Ezcy2
5
(ii) — —a:2y + Zar:yz +3

3 4

° Watch Video Solution



https://dl.doubtnut.com/l/_yI6JqrDRRmg2
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https://dl.doubtnut.com/l/_w3iBCmoLRaXv

55. Write the constant term of each of the following algebraic

expressions:
(i) 2’y — zy® + Tzy — 3

(i)a® — 3a®> + Ta + 5

° Watch Video Solution

56. Evaluate each of the following  expressions  for
x= —2,y= —1, z=3:
N T z
W+ Z
y z oz

(ii)$2—|—y2+z2 — XY — Yz — 2T

° Watch Video Solution
57. Evaluate each of the following algebraic expressions for

x=1,y= —-—1,2=2,a= —2,b=1,c= — 2:

()ax + by + cz


https://dl.doubtnut.com/l/_OeZAFSEV6YSP
https://dl.doubtnut.com/l/_T2mR0QA9nB8y
https://dl.doubtnut.com/l/_ZeOAxrS1ryOY

(i) az® 4 by® — c2?

(iii) azy + byz + cxy

° Watch Video Solution

58. Add 4xy, 12xy and 3xy .

° Watch Video Solution

59. Add 3a?b, 2ab, 13a?band a’b.

° Watch Video Solution

60.Add —Tzxy, — 3zyand —9zy.

° Watch Video Solution

61.Add —4a’y, — 4a’y, — 10a’y and —3a’y.


https://dl.doubtnut.com/l/_ZeOAxrS1ryOY
https://dl.doubtnut.com/l/_nlNZC1D6zbXu
https://dl.doubtnut.com/l/_h9oP5xmdhP0w
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° Watch Video Solution

62. Add 4z%y, 8z?yand —2z2y.

° Watch Video Solution

63.Add 4ab, — 7ab, — 10ab and 3ab-

° Watch Video Solution

64. Add the following:
()3 + 2yand x + y
(i +y+3and 3z +2y+ 5

(iii) 2z + 3y + zand 2z —y — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_SmztiXRHk4PH
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65. Add:
() zy? + 42’y — 7oy — 3zy® + 3 and 2y + zy°

(i) 5z + Ty — 622, 4y + 322, 92% + 22% — 9y and 2y — 22>

o Watch Video Solution

66. Subtract:
(i)5x from 9z
(ii) — 7x from 5z

(iii)— 8a from — 3a

o Watch Video Solution

67.Subtract: a> — 3ab from 2a> — 7ab

o Watch Video Solution



https://dl.doubtnut.com/l/_8pfF7OIdNMIw
https://dl.doubtnut.com/l/_aajJLDhOCJ9c
https://dl.doubtnut.com/l/_OmGqt9cIzapv

68. Subtract: z> — 3zy + 7Ty*> — 2 from 6zy — 4z? —y> + 5

o Watch Video Solution

69. From the sum of dz*—3z%+ 622, 42°+42 -3 and

—32* — 522 + 2z subtract 5z* — 7z® — 3z + 4.

o Watch Video Solution

70.What should be added to a® + 2ab + b” to obtain 4ab + b ?

o Watch Video Solution

71. What should be subtracted from a°® — 4a® + 5a — 6 to obtain

a’> —2a +17?

o Watch Video Solution



https://dl.doubtnut.com/l/_xsjJQtRnsjjP
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72.How much is 2® — 22% 4+ x + 4 greater than 22® + 722 — 5z + 67

o Watch Video Solution

73. How much is 2a®> — Ta + 5 less than a® — 3a® + 2a — 37

o Watch Video Solution

74. How much does 2a®> — 5a + 4 exceed 3a® — 5a + Ta — 97

o Watch Video Solution

75. Add the following:
()3 and Tz

(i) —5zy and 9xy

o Watch Video Solution



https://dl.doubtnut.com/l/_wLp8A2WzMhru
https://dl.doubtnut.com/l/_0Dqqda3eDmLe
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76. Simplify each of the following:
()7z3y + 9yz®

(ii) 12a®b + 3ba’®

° Watch Video Solution

77. Add the following: i) Tabc, — babc, 9abc, — 8abc

ii)2a:2y, — dz%y, 62y, — 5z’y

° Watch Video Solution

78. Add the following expressions: (i)
z3 — 2m2y + 3xy2 — y3, 22° — 5xy2 + 3ac2y — 4y3 (i)

a? — 2a3b + 3ab® + 4a?p® + 3b*, — 2a% — 5ab® + 7a®b — 6a%H? + b

° Watch Video Solution



https://dl.doubtnut.com/l/_uVqiQFGJPJM7
https://dl.doubtnut.com/l/_UGXLSqEHAalp
https://dl.doubtnut.com/l/_1AUe2BGaRCdR

79. Add the following expressions: (i)
8a — 6ab + 5b, — 6a — ab — 8b and — 4a + 2ab + 3b (i)

5z% + 7+ 6z — 522, 222 — 8 — 9z, 4z — 222 + 323, 32® — 9z — 2? and a

o Watch Video Solution

80. Add the following: x — 3y — 2z (ii) 4ab — 5bc + Tca

o Watch Video Solution

81. Add the following: (i)z— 3y— 2z, 5z + 7Ty— 8z, 3z— 2y + 5z

o Watch Video Solution

82. Add the following: 4ab— 5bc + 7ca, — 3ab + 2bc— 3ca, 5ab— 3bc + 4ca

o Watch Video Solution



https://dl.doubtnut.com/l/_rZr3DPaSkQV3
https://dl.doubtnut.com/l/_awjwsUQxLJEr
https://dl.doubtnut.com/l/_F0PT1ExZKqcf
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https://dl.doubtnut.com/l/_LLMfGM3SwxmA

83.Add 222 — 3z + 1to thesumof 3z2 — 2z and 3z + 7.

o Watch Video Solution

84.Add % + 2zy + y? to the sum of 2 — 3y? and 2z? — 3> + 0.

o Watch Video Solution

85. Add a®+ b —3 to the sum of 2a°> — 36 —3ab+7 and

a’® + 3ab — 9.

o Watch Video Solution

86. Subtract:
(1)7a?b from 3a’b

(i) 4zy from — 3zy

o Watch Video Solution



https://dl.doubtnut.com/l/_LLMfGM3SwxmA
https://dl.doubtnut.com/l/_5r9wYWDLSkam
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https://dl.doubtnut.com/l/_q4x0NV3OiaaD

87. Subtract:
(i)—4x from 3y

(ii) — 2z from — by

o Watch Video Solution

88. Subtract: 6x° — 72> + 5z — 3 from 4 — 5z + 6x% — 823

23 + 222y + 6zy® — y® fromy® — 3zy® — 42y

o Watch Video Solution

89. From (a) p* — 4 + 3p?, take away 5p° — 3p° +p — 6

b)7 + = — mz, take away 9 + x + 3z + T3

o Watch Video Solution



https://dl.doubtnut.com/l/_q4x0NV3OiaaD
https://dl.doubtnut.com/l/_PgYGe2UryiPK
https://dl.doubtnut.com/l/_lKN4m1MCjrCM
https://dl.doubtnut.com/l/_ZHqz89EFCCqu

90. From (a)1 — 5y?, take away y® + Ty> + y + 1

(b)z® — 52% + 3z + 1, take away 62 — 42 + 5+ 3z

° Watch Video Solution

91. From the sum of 3z2 — 5z +2 and —5z2 — 8z + 9 subtract

4z — Tz + 9.

° Watch Video Solution

92. Subtract the sum of 13z — 4y + 7z and — 62 + 6z + 3y from the sum

of 6xr — 4y — 4zand 2z + 4y — 7.

° Watch Video Solution

93. From the sum of 2%+ 3y% — 6zy, 222 — y* + 8zy,y> + 8 and

x? — 3zy subtract —3z2 + 49> —zy+ = —y + 3.

| e |


https://dl.doubtnut.com/l/_ZFp1mK07uygZ
https://dl.doubtnut.com/l/_ukj4H1Rk77og
https://dl.doubtnut.com/l/_irOSbnjIbhJO
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| & Watch Video Solution I

94. What should be added to zxzy—3yz+4zzr to get

doy — 3zx + 4dyz + 77

o Watch Video Solution

95. What should be subtracted from z? — zy + y*> — z + y + 3 to obtain

2 +y? — 4oy + 17

o Watch Video Solution

96. How much is ¢ — 2y + 3z greater than 3z + by — 77

o Watch Video Solution

97. How much is z? — 2zy + 3y less than 222 — 3y® + zy?

s I


https://dl.doubtnut.com/l/_iPY77a6hVYi8
https://dl.doubtnut.com/l/_xGWAJw8qxX5G
https://dl.doubtnut.com/l/_VCyes2wAFwkE
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https://dl.doubtnut.com/l/_jFaiUieLcoPr

| ¥ Vvatch Video Solution

98. How much does a®> — 3ab + 2b* exceed 2a> — Tab + 9b>?

° Watch Video Solution

99. What must be added to 12z% — 422 + 3z — 7 to make the sum

% + 222 — 3z + 27

° Watch Video Solution

100. If P =72 + 5zy — 992, Q = 4y® — 32% — 6zy and
R = —4z® + zy + 5y%, showthat P+ Q + R = 0.

° Watch Video Solution
101. If P =72 + 5zy — 992, Q = 4y® — 32? — 6zy and

R = —4z® + zy + 5y%, showthat P+ Q + R = 0.


https://dl.doubtnut.com/l/_jFaiUieLcoPr
https://dl.doubtnut.com/l/_mnR3P91pVkw4
https://dl.doubtnut.com/l/_qdeTg7KjI9S1
https://dl.doubtnut.com/l/_zIBCQHZnK04L
https://dl.doubtnut.com/l/_gRx9iNOb3ca6

° Watch Video Solution

102. If P=2a>— 1 +2ab, Q= a’®+ 4b*> — 6ab),
R=0+b S=a®>—4abandT = — 22>+ V* —ab+a

FndP+Q+R+S—T.

° Watch Video Solution

103. Put the last two terms of each of the following expressions in the
parentheses preceded by a minus sign:

(2x + 3y —4z+ 7

(i) 3a — 2b — 7c — 4d

(ii)7zy — 4yz + 322 — 5

° Watch Video Solution

104. Write each of the following statement by using appropriate

grouping symbols:


https://dl.doubtnut.com/l/_gRx9iNOb3ca6
https://dl.doubtnut.com/l/_VHyWVH17pTWb
https://dl.doubtnut.com/l/_0Lf7fyHolaoY
https://dl.doubtnut.com/l/_0QyFrVKskXKM

(@) The sum of x + y and 2zy — 3z + 2y is subtracted from zy — = + y.
(b) The subtraction of z + y — 3 from 3x — 2y + 9 is subtracted from
thesumofdx + 3y — 9and 2z — y + 2

(c) The subtraction of y — 1 from x is added to 3y and its difference from

y is subtracted from x.

o Watch Video Solution

105. Place the last two terms in each of the following expressions in
parentheses preceded bya ' —' sign:
()9a + dzxy — Tz + 8y —6

(iy + z + 22 — y* — a®

o Watch Video Solution

106. Place the last two terms in each of the following expressions in
parentheses preceded bya ' —' sign:
(i)3a — 2b+4c—5

(i) 7a +3b+2c+4


https://dl.doubtnut.com/l/_0QyFrVKskXKM
https://dl.doubtnut.com/l/_3HSuVbaPTVhw
https://dl.doubtnut.com/l/_7NJL5Yw61pk5

o Watch Video Solution

107. Place the last two terms in each of the following expressions in

y !/

parentheses preceded by a ' —' sign: 2a® —b® —3ab+ 6 (i)

a’> +b — &+ ab— 3ac

o Watch Video Solution

108. Write each of the following statement by using appropriate grouping
symbols: The sum of a—b and 3a —2b+ 5 is subtracted from
4a 4+ 2b — 7. Three times the sum of 2z +y— {5 — (z — 3y)} and
Tr — 4y + 3 is subtracted from 3x — 4y + 7. The subtraction of

z® — y® + dzy from 22° + y* — 3zyis added to 9z° — 3y® — zy-

o Watch Video Solution

109. Simplify each of the following algebraic expressions:

(4) (a® + b* + 2ab) + (a® + b* — 2ab)


https://dl.doubtnut.com/l/_7NJL5Yw61pk5
https://dl.doubtnut.com/l/_HPfoULt9cYOj
https://dl.doubtnut.com/l/_JDWU2sCOObC8
https://dl.doubtnut.com/l/_XKAJxKzeY8N6

(i) (a® + b* + 2ab) — (a® + b* — 2ab)

° Watch Video Solution

110. Simplify each of the following: —5(a +b) +2(2a — b) +4a — 7

—3(a+b) + 4(2a — 3b) — (2a — b)

° Watch Video Solution

M. Simplify each of the following:

2z — [3y — {2z — (y — z)}]

2z — {5y — (z — 2y)}

° Watch Video Solution

112. Simplify each of the following:

m—[m+{m+n—2m— (m—2n)} —n

2.32%2 — dyz + 3zy — {w2z — (CIJ2Z — 3yz) — dyz — 7z}

° Watch Video Solution



https://dl.doubtnut.com/l/_XKAJxKzeY8N6
https://dl.doubtnut.com/l/_QB0rRy3sh8dx
https://dl.doubtnut.com/l/_jxR3E4lszmGh
https://dl.doubtnut.com/l/_McxKAU9HKnP9

113. Simplify : 15z — [8:c2 + 32 — {8:102 — (4 — 2z — a:3) — 5x3} — 2:(:}

° Watch Video Solution

14.Simplify: 5 + [z — {2y — (62 + y — 4) + 222} — (2 — 2y)]

° Watch Video Solution

115. Simplify and find the value of the following expression when a = 3
and b=1:

4(a® + b* + 2ab) — [4(a® +b* — 2ab) — { — b° +4(a — 3)}]

° Watch Video Solution

116. Simplify each of the following algebraic expressions by removing

grouping symbols.


https://dl.doubtnut.com/l/_McxKAU9HKnP9
https://dl.doubtnut.com/l/_a7FXmzGmG9WX
https://dl.doubtnut.com/l/_FAPLIbL5L5Z1
https://dl.doubtnut.com/l/_CeweC5ARqpmW
https://dl.doubtnut.com/l/_FhMErYrU1gWz

12z + (5z — 3y)

2.3z — (y — 2z)

° Watch Video Solution

117. Simplify each of the following algebraic expressions by removing
grouping symbols.

5a — (3b — 2a + 4¢) —2(:(:2 — 1y’ + :L'y) — 3(:1c2 +y* — :r:y)

° Watch Video Solution

118. Simplify each of the following algebraic expressions by removing
grouping symbols.
(i)3z +2y — {z — (2y — 3)}

(i) 5a — {3a — (2 — a) + 4}

° Watch Video Solution



https://dl.doubtnut.com/l/_FhMErYrU1gWz
https://dl.doubtnut.com/l/_Zqr83Xrp6efy
https://dl.doubtnut.com/l/_pXTW0XJFKOBe

119. Simplify each of the following algebraic expressions by removing
grouping symbols.
la—[b—{a—(b—1) + 3a}

2.a —[2b — {3a — (2b — 3¢)}]

o Watch Video Solution

120. Simplify each of the following algebraic expressions by removing
grouping symbols.
1z + [by — {22 — (3y — 5z)}]

22a — [4b — {4a — 3(2a — b)}]

o Watch Video Solution

121. Simplify each of the following algebraic expressions by removing
grouping symbols.
la—[a+{a+b—2a— (a—2b)} — b

220 — 3y —[3z — 2y —{z — 2z — (= — 2y) }]


https://dl.doubtnut.com/l/_36ZqSHH1fcK4
https://dl.doubtnut.com/l/_0dLPDEPWeC9N
https://dl.doubtnut.com/l/_ofI9Ce1moEiT

° Watch Video Solution

122. Simplify each of the following algebraic expressions by removing
grouping symbols.
1.5+ [z —{2y— (6z+y—4) +2z} — {z — (y—2)}]

2.2% — [3x+{2m— (m2—1)}—|—2]

° Watch Video Solution

123. Simplify each of the following algebraic expressions by removing
grouping symbols.

1.20 — [5zy + 3{z’ — (zy —y) — (z — y)}]

2.85 — [12z — 7(8x — 3) — 2{10z — 5(2 — 4z)}]

3.zylyz — zz — {yxr — (3y — z2) — (zy — 2y) }]

° Watch Video Solution

124. Add the following : 2z%y,— 4z’y 62 y,— S’y


https://dl.doubtnut.com/l/_ofI9Ce1moEiT
https://dl.doubtnut.com/l/_fYwFrJtUMwvi
https://dl.doubtnut.com/l/_RjKmrJUFSSFl
https://dl.doubtnut.com/l/_UZJvJpOr9bhF

C.17z%y

D. 1522y

Answer: B

o Watch Video Solution

125. Which of the following is not a monomial?

A2z +1

B. 3z*

D. mzy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_UZJvJpOr9bhF
https://dl.doubtnut.com/l/_LDA9u64NCos2

126. The sum of the coefficients in the monomials 3a2b and — 2ab’ is

A5

Answer: C

° Watch Video Solution

5
127. The coefficient of &2 in — 3 z2y is equal to :-

2 ) 2502 (d) 2
(a)— 5 (b) = 2y (95 (@) 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_LDA9u64NCos2
https://dl.doubtnut.com/l/_qDZ3Bket5dlV
https://dl.doubtnut.com/l/_4ydMWOC4UzTb

128. I a, band c are respectively the coefficients of z? in 22, 2z +
and 2z — 2 respectively, thena + b + ¢ =

(@0 (b) —22(d) —1

° Watch Video Solution

129. The sum of the coefficients in the terms of 2z%y — 3zy? + 4zyis

(@—3(b)3(c)9(d)5

° Watch Video Solution

4 1
130. The product of the coefficients of terms in — gab2 + Zbc2 + 3ca’is

1
(@1(b) 5 ()—1(d)3

° Watch Video Solution



https://dl.doubtnut.com/l/_vn8OqYT6H2xM
https://dl.doubtnut.com/l/_PoGAfT7zQxOK
https://dl.doubtnut.com/l/_uq6lmKSW2Ux4

131. If a and b are respectively the sum and product of coefficients of
terms in the expression z? + y2 + 2% — xy — yz — zx, thena + 2b =

(@0 (b)2(c)—2(d) —1

° Watch Video Solution

132.1f P =32° + 322+ 3z +3and Q = 32> — 3z + 3, then P — Q =

(a)3z3 (b) 3z% + 622 + 62 + 6 ()6x> + 62 + 6 (d) 32> + 62

° Watch Video Solution

133. The sum of the values of the expression 2z? — 2z + 2 when
x= —landz =1is

(a)6 (b) 8 (c)4 (d) 2

° Watch Video Solution



https://dl.doubtnut.com/l/_bkQqOfrEZk6C
https://dl.doubtnut.com/l/_fuAzs0ENy5n3
https://dl.doubtnut.com/l/_vXMqsCOZoYcO

134. What should be added to 3z + 4 to get 9z2 — 77

(a)6z> — 11 (b) 622 + 11 (c)12z2 — 11 (d) 1222 + 11

° Watch Video Solution

135. How much is a®> — 3a greater than 2a* + 4a?

(A)a®> — 7a (B) a® + Ta (C) —a® — Ta (D) a® + Ta

° Watch Video Solution

136. How much is — 222 + z + 1 less than 22 + 2z — 37

@z +3z—-2Mb)3z2+z —4(c)—3z> —z+4(d) 32>+ 3z — 4

° Watch Video Solution

137. What should be added to zy + yz + zx to get xy — yz — 227

(a)—2xy — 2yz — 2zx (b) —3xy — yz — zx (c)—3xy — 3yz — 3zx (d)


https://dl.doubtnut.com/l/_EnjOMTAaiJqw
https://dl.doubtnut.com/l/_NjbXph2MQQCk
https://dl.doubtnut.com/l/_w9v2IeoUajzc
https://dl.doubtnut.com/l/_9j5JRdIbFB19

2zxy + 2yz + 2z2zx

o Watch Video Solution



https://dl.doubtnut.com/l/_9j5JRdIbFB19

